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DIPLOMA IN VALUE ADDED PRODUCTS
FROM FRUITS AND VEGETABLES (DVAPFV)

*—‘“3 Term-End Examination
k;J December, 2015
BPVI-003 : FOOD CHEMISTRY AND
PHYSIOLOGY
Time : 2 houts Maximum Marks : 50

Note : Attempt any five questions. All questions carry equal

marks.

1. Write True or False for the following
statements : 10x1=10

(@)
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Pellagra disease is caused by the deficiency
of biotin.

Calcium helps in the absorption of
vitamin By,.

Dental caries are the result of deficiency of
calcium.

Selenium has a anticarcinogenic activity.
Lycopene does not exhibit vitamin A
activity.

Tocopherol has excellent antioxidant
activity.

Rickets in infants is caused due to deficiency
of vitamin D.

Gelatin stabilizer is obtained from the plant.
Scurvy is the disease caused due to the
deficiency of vitamin C.

Sorbitol is a microbial gum.
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2. Take the odd one out from the following :  10x1=10
(a)  Nisin, Natamycin, Niacin

(b)  Ascorbic acid, Lecithin, BHA

(c)  Acetic acid, Nitrate, Sulphurdioxide

e}

(d) Lactic acid, Citric acid, Phosphoric acid
(¢)  Anthocyanin, Betalain, Carmoisin

(f)  Guargum, Gum arabic, Xanthan gum
(g) Leucine, Valine, Arganine

h)  Lactoferrin, Globulin, Albumin

[

N—

(
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3. Attempt any five. Fill in the blanks in the
following : 5x2=10
(a) Caseinisa ___ protein whereas
ovamucin of egg is a protein.
(b)  Components of starch are and

Sucrose, Maltose, Lactose
Niacin, Menaquinone, Biotin

() Arginine isa ____ amino acid
whereas methionine is a ____
vitamin.

(d) Olic acid is a ______ Fatty acid
whereas stearic acid is a Fatty
acid.

(¢)  Saponification value of Fat is the indicator
of its Fatty acids whereas iodine
value is the indicator of Fatty
acids.

(f)  Soft water contain less than __
ppm of CaCO; whereas very hard water
contain ppm CaCO,.

(8)  Loss of 0.25 - 0.3 ppm of chlorine in reacting
with water impurities during chlorination
is known as whereas residual
chlorine upto ppmis considered
sufficient to prevent its spoilage.
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(h) One international unit of vitamin A is equal

to pg of crystaline vitamin A
while one international unit of vitamin D is
equal to pg of vitamin D.

(i)  Chemical name of vitamin Cis o
while the chemical name of vitamin E 1s

G) Our body contains about ______
minerals out of these is the
component of vitamin By,

4. Match the appropriate word given under
Column-B with the statements given under
Column-A. 10x1=10

Column-A Column-B

(a)|These are plants neutraceuticals Sorbitol
(b) |Sepals are collectively called Lecithin

(c) [ These are male or female sex Pollination
cells

(d)|1t is a bitter glycoside present in |Zygote
bitter almonds

(e) |It is a diabetic food Corolla

(f) |It is an antioxidant Caylex

(g)|Loss of water from the fruits in Gamates
the vapour form.

(h) [Petals are collectively known as |Transpiration

(i) |1t is a fertilized cell Amygdalin
j) |Process of transfer of pollen Flavonoids
grains to the stigma
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5. Write short notes on any five of the following :

(@) Post Fermentation Processes of Vinegar 5x2=10
(b) Fermenters
(c) Sauerkraut
(d) Computer applications in Fermentation
(e)  Solid state Fermentation
(f)  Aerobic Fermentation
6.  Define the following (any ten) : 10x1=10
(a) Food additives
(b)  Kimchi
(¢) Pak-sian-dong
(d) Vermouth
(¢) Brandy
(f)  Fenny
(8) Toddy
(h) Mead
(i)  Whiskey
() Antioxidant
(k) Water activity
()  Enzymes

7. (a) What is the role of ethylene in post harvest 5
life of Fruits ?
(b)  Write the mechanism of ethylene action. 2
() How development stages affect the 2
respiration rate of the product ?
(d) Discuss physiological disorders in Fruits and 4
Vegetables due to temperature variations.

8. (a) List different processes of vinegar 5
preparation and describe quick process for
its preparation.
(b) Discuss the role of different 5
micro-organisms in wine making.
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2. fTrfates 3 @ fawa i srem i 10x1=10
(a) EfEA, TemEfeE, s
(b) THIfsT a7, Ao, of T @
(c) T oA, Meee, NewleRsiaEe
(d) wfes o, fafer o, FreRfeE s
(e) TUAHIMM, sterem, smifgy
(&) I, S9d w1 e, (T Rfaw) fqeE T

(g) <Y&mEA, Afem, anfsfm

(h) SR, wiegfem, A

(i) RIS, TN, SRS

G) =, e, st

3. T vl =t ofd sifore (femedf wir) 5x2=10

(@) *fgm ___WIEW B, wefE H2 &
STy TN R

b)) ®"EFwH__ sk F

(0 sufdfa__ ufaT et ® wefsw
afernfre faerfm 21

(d) e e AT I’ §, Safw

(¢) & F HEHEH oW T o
JrA KT YAF B, F9fF armiEtH mm,
o1 T R g R

(f) W5 v | Hicwrd weite wt wm
ppm ¥ FH B &, Sl st HR Wt §
Hfeway e ppmiﬁ?ﬂ%I

(g) TR % M w1 sryganeh @ whafeen
T H AT H10.25 - 03 W 0 W B afy
__ FEAd R W&k W
W TH T T TR S 9 T T B g
T % e vt wr s
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(h foeifed © & w% saweg g, e

faafm T & HEHIUH & T
BT, SafE faerfie < 1 T STausid e,
faafgs €t & AU & SeR
e

i) Tt €t % wwEf ™ LR CIC
fqerfim § = qEEts Am gl

() TR IR e Wit B
g T , T B, , %1 5 B

4. wiem-& ¥ feu TU HAl F, wiem-@ ¥ g T

I9gHR TE W A i 10x1=10
HAA-H HAU-G
(@) |3 wru-gzrEgfewa § ifdta
(b) |qvet =1 49 9 A F © e
(©) |5 = wwen fefm smifereRTd TATOT
(d) |rea demi ¥ fasme FHea
< S W
TARH RS

(e) |uede % A ¥ GRS FHRIA
(f) [ufqetiediers EaoE|

(g) [amT & ¥4 & Wil 9 THI-F@ e
(h) |Fgfedi % 4950 &9 @ Fea ¢ TSI

(i) |frofea s wfefem

G - -

i) |afdfem qe T Ol & e&iaol Hi ot
IER
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5. 98U A f&d uie W e fafau 5x2=10
(a) o s =i fpvam & a1e = wfpand
(b) fwvas
(c) T it
(d) fwoem | Foge w1 w@m
(e) 3 ey fomver
() agShet fovem
6. wRwifva wifsw (frff ga =Y) - 10x1=10
(@) WIS

~

(
(a) el % qSE ¥ G F e & wehfer F yfrw o2
T2
(b) weifeR-foran & o5 =1 fafaw) 2
(c) SR ¥ R fahm-yeeamd FA ganferg 2
HIA T ?
(d) A -REdie % FR %l T Wil 4
H 9 IEREHATHS fawry % ==t wifg
8. (a) Taw o =t fafvm wfpaedi ) g=ft ey 5
AR go% ot =t e wfiwan & 9w
(b) wfew Fmfw A fafim gewshal =t yffmr =@ 5
=4t Hifaw )
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